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Solve each problem.

1) There are 578 students in a school. If the school has 2 grades and each grade had the same
number of students, how many students were in each grade?

2) Nancy had 261 pennies. If she put them into stacks with 9 in each stack, how many stacks
could she make?

3) Sarah is making bead necklaces. She has 670 beads and is making 5 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

4) Kaleb made 360 dollars mowing lawns over the summer. If he only had 9 customers and
each person paid the same amount, how much did each person pay?

5) There are 995 seats in a movie theater. If the movie theater has 5 sections with the same
number of seats in each section, how many seats are in each section?

6) Olivia received 612 dollars for her birthday. Later she found some toys that cost 2 dollars
each. How many of the toys could she buy?

7) There are 520 students going to a trivia competition. If each school van can hold 8
students, how many vans will they need?

8) A pallet of boxes weighed 110 kilograms. If there were 2 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

9) Will had 582 pieces of candy. If he split the candy into 6 bags with the same amount of
candy in each bag, how many pieces would each bag have in it?

10) The ring toss game at the carnival made 816 dollars in 6 days. If they made the same
amount of money each day, how much did they make per day?
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1) There are 578 students in a school. If the school has 2 grades and each grade had the same
number of students, how many students were in each grade?

2) Nancy had 261 pennies. If she put them into stacks with 9 in each stack, how many stacks
could she make?

3) Sarah is making bead necklaces. She has 670 beads and is making 5 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

4) Kaleb made 360 dollars mowing lawns over the summer. If he only had 9 customers and
each person paid the same amount, how much did each person pay?

5) There are 995 seats in a movie theater. If the movie theater has 5 sections with the same
number of seats in each section, how many seats are in each section?

6) Olivia received 612 dollars for her birthday. Later she found some toys that cost 2 dollars
each. How many of the toys could she buy?

7) There are 520 students going to a trivia competition. If each school van can hold 8
students, how many vans will they need?

8) A pallet of boxes weighed 110 kilograms. If there were 2 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

9) Will had 582 pieces of candy. If he split the candy into 6 bags with the same amount of
candy in each bag, how many pieces would each bag have in it?

10) The ring toss game at the carnival made 816 dollars in 6 days. If they made the same
amount of money each day, how much did they make per day?
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